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| : Find the choice that best completes each of the follow-

ing sentences:

( )1. There are ten ___ teachers in our school.
A. woman B. women
C. woman's D. women’s

( )2.How many __ did you take last week?
A. photos B. photoes



C. photo D. picture

( )3.1t’s _ walk from my home to school.
A. two-hgurs B. two hour’s
C. two hours’ D. two hours’s
( )4.May I give you ___ advice?
A. a good B. a nice
C.an D. a piece of
| 2 )

Bl 1 B RZE B, RBIFANEEIN, E & 28 E —4
417 2 man B woman B, & /149 5 UK R P 4L B 4>
BWENEEIER . 4id woman §5 B B N AN E B R

women , & W% & A& 417 9 L PIE X K : women teachers, H &
2R LB BOE AR, 324 3 MRS, U LA —FERL . BH—F
BOLRB R AR — A B 4 2 b & BUE L, 1 film-goer
film-goers ZFHEHEM A, LFH —FHENREFTELSTENE
¥R, 0 :Looker-on——Lookers-on & # .

1l 2 MR A photo BRRLIFH O GEMIAER T
BISMEDL RE B A R n—s, BLF8 O BRESYUER A
s WA LA cradios ,pianos s kilos, studios %,

Bl 3 WA RR Co X HEREHERETABER. s B
RN EMIARNE, HUARR L EMO R, W6 H, BB
AR EHE WA FEE ERELNES. REHRLFANIE
BREARLEGR s, ABAF G " AN 217 5 $Us B
’s, Ul:today’s newspaper,the children’s books ;thirty dollars’
value %, .

Bl 4 FBERR D, advice fE“B &N, R0 B &R B
FHa— R, 715 #01A a piece of, KRR —EHEAA
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{LiAA A :a fit of ,a drink of ,a burst of ,a game of %, [E T Af
PIiK ;a fit of anger SR K% ,a drink of water —#67K,a burst
of gunfire —[EHI:K ,a game of chess —##.

=%

I . Find the choice that best completes each of the_ following

sentences :
( )1.1 always put my best __ in a safe-deposit box.
A. jewelries B. pieces of jewelry
C. jewelry’s pieces D. piece of jewelries
( )2.1 will need __ about the climate before I make the

final decision.

A. a few informations B. a little informations
C. a few information D. a little information
( )3. As soon as we saw this face,we knew the _ bad.
A.news was _ B. news were
C. new was D. new were
( )4.  do they need in the restaurant every day?
"~ A.How many ice B. How much ice
C. How many ices ) D. How few ices
( )5. We have much __ to do after school every day.
A. exercises B. lessons
C. classes D. homework
( )6. You must get me two ____ hearts.
A. monkey’s B. monkeys’
C. monkeies’ D. monkeys’s



)7. Are these your books?

—No,they are my . .

A. brother’s B. brothers
C. brotherses D. brothers’s
)8.1In spring,there is __ in Changsha.
A. many rains B. a few rains
C. plenty of rain D. a lots of rain
)9. Jack has bought .
A. a new glass B. new glasses
C. a pair of new glasses D. a pair of new glass
)10. Every _ been tried.
A. means has B. means have
C. mean has D. mean have

)11. On the way home I met two Frenchmen and three

A. German B. Germen
C. Germens D. Germans
)12. That definition leaves _ for disagreement.
A. much room B. a small room
C. great deal room D. not so big a room

)13. After ten years,all those youngers became

A. growns-ups B. growns-up

C. grown-up D. grown-ups
)14. She used to have three

A. boys friends B. boys friend

C. boy friends D. boy friend

)15. grazing on the meadow.



A. The cattle was Q The cattles were

C. The cattle were D. Cattle was
( )16. _ is too much for a little boy to carry.
A. A bike’s weight B. The weights of a bike
C. The weight of a bike  D. Bike’s weight
( )17. _ is covered with heavy snow.
A. The earth’s surface B. The surface of earth
C. The surface earth D. The earths’ surface
( )18. The young couple bought _ for their living
room.
A.some new furniture B. some new furnitures
C. many new furniture D. many new furnitures
( )19. These __ were made by the students themselves
last year.
A. radios B. radioes
C. radio D. radioies
( )20. The cinema is not far. It’s about  walk.
A. ten minutes’ B. ten minutes’s
C. ten minute’s D. ten minute

I . From the four underlined parts in each of the following

sentences choose the one that is wrong .

( )1. In the United States,inches and feets are still used as
A B C
units of measurement.

D
( ) 2. Since I loved her very much when she was alive,1
A
prize my mother’s-in-law picture and I wouldn’t sell
C



¢

it for all the money in the world.

D

)3. The diamond is the hardest substance in natures .
A B C D

)4. Digitalis is a drug which is prepared from the seeds
A B

and leafs of a plant with the same name and is

used as a cardiac stimulant.

D
)5. The short story may be the most flexible of all form
A B C D
of fiction.

)6. Among us students are many foreigners who attend

A B C
languages classes on the south campus.
D
) 7. There are ten childs playing in the yard near her
A : B C
house,but your child is not among them.
D

)8. Mary told me of her father illness the other day.
A B C D

)9. It was not so much the much blows he received as

A B ‘
a lack of spirit that led to his losing the fight.
C D
)10. The town we visited was a four-days journey from
A B

our hotel,so we took the train instead of the bus.
C D

* ) 11. The farmer has ruined the soils by planting the

A B C



same crop every year .

D
(" )12.Could you please tell me the room’s number of Li
B C - D -
Ming?
( )13. He alway does his work with great carefulness .
4 A A B C D
( )14. The box over there is Mary’s and Jane’s .
; - A B e D
(' )15. The passer-bys gazed at the scene in wild
B C
astonishment .
D

I . Fill in the blanks with the correct forms of the nouns given

in brackets .
Passage One

The British workers who went to China last June were
tremendously impressed with the massive l (scale) of 2(culti-
vation) of the land. To give an example,in our 3(journey) in
China,we travelled by 4(train) on two occasions overnight,the
first journey was from Beijing to Shijiazhuang which took from
11 ¢+ 30 pm to 7 : 00 am. As we left Beijing we travelled
through a vast sea of 5 (grain)6(field) which stretched as far
as the 7(eye) could see on both sides of our carriage ,and when
we woke up at dawn the next morning we gazed in 8(astonish-
ment) at the same sea of 9 (grain) through which we had
passed outside Beijing,but we were now in shijiazhuang some

7



280 miles further south. It was breathtaking in its 10 (immen

sity).
Passage Two

A pilot noticed a balloon which seemed to be making for
Royal Air Force Station nearby. He informed the 1(station)
once,but no one there was able to explain the mystery. The
(officer) in the control tower was very angry when he hear
the 3 (news), because balloons can be a great danger to aif
craft. He said that someone might be spying on the station an
the é (pilot) was ordered to keep track of th:e; strange
(object). The pilot managed to circle the §(ballo‘on)mfor son
time. He could make out three 7(man)in a basket under it ar
one of them was holding 8(field-glass). When the balloon w,

over the station,the pilot saw one of the men taking 9(phot

graph). Soon afterwards , the balloon began to descend and|
landed near an airfield. The 10(police) were called in,but th’
could not arrest anyone, for the 11 (basket) contained two
(member) of Parliament and the Commanding Officer ofj
station! As the Commanding 13 (officer) explamed later,
half of the 14(statlon) did not know what the other half w
doing!

Passage Three

The conclusions are obvious. First and foremost there .



he different political 1 (system), one socialist, highly disci-
slined and motivated with the 2 (ownership) of 3 (industry)
nd 4(land) in the 5(hand) of the people who work for the 6
;benefit) of all. The other,a country deeply divided by imperi:
lism and by 7 (class), at the 8 (mercy) of the land “@
|speculator) and the 10 (man)of 11 (money), who consider

‘othing but their own 12(enrichment).
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5 : Find the choice that best completes each of the follow-

ing sentences:
10



( )1.1 heard samebody playing ;

A.piano B. a piano
C. the piano D. pianos

( )2.Can you give me ____ chance,please?
A. a second B. the seconds
C. second D.a two

( )3. _ as she was,self-consciousness had come to her.
A. A child B. Child
C. The child : D. Children

( )4.1 have told him ___ to be polite.
A.a much time B. much a time
C. a many time D. many a time

fEAR
Bl HERE C. XEEERMER AT ERA + 8K
A (EERRZFANMRAFDHR R - R ERHEL. XH

LSt SIS fhi
BEE R A BT ] B S BRI

AR AR AR I A RO A A A0 A

Bl 2 RERRE A, —BORIR, 287 BOA BTN E e A,
WGUF eI Ik AR RR X B E . SR T R
WA PHTE LY ——H R & MR RR
B BrAE R A € i .

Bl 3 iERE B. XEROARZNERFEAMNTRY
B OL . 17 5 B 28 20 B B R AT A R Rl
R i R ERF BRIt 2 S, B 17] 5 B9 26 4% 11 3% A R T 5 A
TRTHE OB H R, R — S ROR N AT BRI A HY) 5
ZRARRAL HTRATN S HBY BANTLERGRN

11



)

e

—

| 4 BB RREDSGEB R EA EE AL E . L2 did

— JB N FE “ T A + BB R IR A 2 B . BRI Z RTA

Bl 37 how,to0,s0,as %, RERIAIMBEE R AL G . THAE
A B F many, what half such rather ,quite $ 27 .

=.%7]

I . Find the choice that best completes each of the following

sentences :
( )1. _ average urban resident is oversensitive to price
changes.
A. A B. An
(2. The : D./
( )2.1didn’t go there last night because I had got .
A. headache B. cold
C. the headache D.a headache
( )3. ___ is the centre of thought. '
A. The brain B. Brain
C. A brain D. Brains _
( )4. Tom lives in a quiet village near Chichester. __ has
a population of a few hundred people.
A. A village B. The village
C. Village D. The villages
( )5. ___, you are looking for no longer works here.
A. Smith B. A Smith
C. The Smith D. The Smiths
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